Activity Answer Key

Name of Activity: Outcomes Jeopardy

Item # | My answer
(Outcome
1,2, 0r3)

Correct answer

Were you right?
(score 1 for correct
answer, 0 for
incorrect answer)

Outcome 3

Outcome 2

Outcome 3

Outcome 1, 2 or 3, depending upon how
biting is affecting this child’s functioning
(Outcome 1 if no one will play because
he/she bites, Outcome 2 if he or she is
always in time out for biting and misses the
learning activities, Outcome 3 if it's
associated with feeding issues)

Outcome 1

Outcome 2

Outcome 1 or 2 (social aspect of playing
with a friend=Outcome 1 and
representational play=Outcome 2)

Outcome 1, 2 or 3, depending upon how
lack of sleep affects this child’s functioning
(Outcome 1 if he/she is too sleepy to
interact with others, Outcome 2 if he/she is
too sleepy to participate in learning
activities, Outcome 3 if he or she is too
sleepy to get his or her needs met)

Outcome 1

My total score
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